Rl

MNFLRE RF (Rt 5530

1 1K
B 4 | A7 WNABITRB R (W - rE L) smsmiis i g5
EN

At & 4 FHRF S22 59AR AFLE

AFLAEA H SR4AE3H23H (K)

AL T FORF SR i /i ==

AFLIEE % 1 B AKL % 2 [F] AKL % 3 B AKL
HFEL x| ) E KX | ) E x| ) E
IR AZ R 041 |11,500,000 (B 11,450,000 [#Bi6E o N
=2 LB 2R R
A&t
IR 28 #(14,200,000 R [FEE
7 oo— )\ 2T
H . H#: A B #fEER
MR e 4t
MRS DG [FER




Rl

MNFLRE RF (Rt 5530

1R 14
2 4 R — VN AGEITHEB L (HED )| LHamirsEnsgs
At & 4 FHRF S22 59AR AFLE =
AFLAEH H SA43 74230 (K)
AL AR ) S ey VR ==
AFLIEE % 1 B AKL % 2 [F] AKL % 3 B AKL
e LKE HE G%E ) E AKE ) E
AL SR 241 7,000,000 Him |[EeR
B2 1LEL R 2 #£(6,800,000 i [EER
Katt
A (R4 5 228 16,500,000 EiE 6,000,000  [EEIE
7 oo— )\ 2T
H . H#: A B #fEER
I PE =T AN
RS AR 81D 16,000,000 #iE 5,500,000 (& o N




Rl

<) =1 AL N
MNFLRG SR 3 (F5E42400)
1R 1#
2 4 A — LN ZTEIT B RZE (BRRPE| it aiiraf@ng s
FAE PEmEY )

AT g 4 FHRF S22 59AR AL B

AFLAEH H SA43 74230 (K)

AFLB T ) S ey VR ==

AKLIE S %51 [\ AL 5 2 [a] AFL 5 3 [ AL
EFL e | HIE R | HIE | HIE
[BLAZ @R AL [FER
B A LFL S 2 8K(55,000
A&t
A PR AL 22 Bk £ (32,000
7 o— )\ = ERT
H 2z K86 B B B R
I3/ A= A
RS A 81 (30,000 EFL




Rl

<) =1 AL N
NFLAE B3 (TRt 384K9)
1/H 1k
R4 RN AEATRE LR (BRI st sim &5
FAE HEY)

AT g 4 FHRF S22 59AR ALFE

AFLAEA H SA43 74230 (K)

AFLB T ) S ey VR ==

AKLIE S 51 AL 5 2 [EAKL 5 3 A AL

HFEL e | HIE R | HIE e HIE

[BLAZ @R AL [FER
B AL BN R R REE
A&t
AIREAL 28 & [FER
7 o— )\ = ERT
H 2z K86 B B B R
I3/ A= A
RS AR R BLDE 148,000 i 43,000 EFL




